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1. Using the method of consistent deformations (that is, the force method), determine
the reaction at C and the force in member BE for the truss and load P shown in

Figure 1. The axial rigidity EA is the same for all members. (25%)
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2. Using the sign conventions for shear ¥ and bending moment M as shown in Figure
2-1, determine
(a) the absolute maximum positive moment,
(b) the absolute maximum negative moment, and
(c) the absolute maximum negative shear

for the beam and moving loads shown in Figure 2-2. (25%)
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3. The frame shown in Figure 3 is subjected to a uniform load wy on member BC. Using
the slope-deflection method,
(a) determine the rotation of joint B, and then .
(b) draw the moment diagram for the frame.

The flexura! rigidity E7 is constant throughout the entire frame. (25%)
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4.  Assume that all the members of the truss shown in Figure 4 have the same axial
rigidity EA and coefficient of thermal expansion . _
(a) Using the numbering of joint displacements as shown in the figure, determine the
stiffness matrix Ks,a for the truss.
(b) If the entire truss is subjected to a temperature increase A7, determine all possible

joint displacements.

(25%)
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